	TABULATION OF BIDS	Т							
	Minor Bridge Repairs at Various Locations, Part 1 HWY-K-02-23M	_							
PROJECT NO.:	HVV Y-K-02-23M								
NET LENGTH:									DF HAWAII
ISLAND:				Abhe & Sv	voboda, Inc.	Kiewit Infrastr			MENT OF
DISTRICT	Waimea, Koloa, Lihue, Kawaihau					Co).		ORTATION 'S DIVISION
								HIGHWA	S DIVISION
DATE ADVERTISED:	May 25, 2023								
BID OPENED:	June 19, 2023								
COMPLETION TIME:	190 Working Days								
		APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing for Kekaha Channel No. 1	280	SY	\$75.00	\$21,000.00	\$150.00	\$42,000.00	\$45.00	\$12,600.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP at Kehaha Channel No. 1 Bridge	LS	LS	\$40,500.00	\$40,500.00	\$99,000.00	\$99,000.00	\$8,000.00	\$8,000.00
209.0200	Installation, Maintenance, Monitoring, and Removal of BMP at Unnamed Stream, 5-Cell Culvert	LS	LS	\$40,500.00	\$40,500.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
209.0300	Installation, Maintenance, Monitoring, and Removal of BMP at Hoinakaunalehua Bridge	LS	LS	\$40,800.00	\$40,800.00	\$150,000.00	\$150,000.00	\$8,000.00	\$8,000.00
209.0400	Installation, Maintenance, Monitoring, and Removal of BMP at Nawiliwili Bridge - Inbound	LS	LS	\$42,500.00	\$42,500.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
209.0500	Installation, Maintenance, Monitoring, and Removal of BMP at Nawiliwili Bridge - Outbound	LS	LS	\$40,800.00	\$40,800.00	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00
209.0600	Installation, Maintenance, Monitoring, and Removal of BMP at Hanamaulu River Viaduct	LS	LS	\$65,000.00	\$65,000.00	\$95,000.00	\$95,000.00	\$5,000.00	\$5,000.00
209.0700	nstallation, Maintenance, Monitoring, and Removal of BMP at Papaa Stream Bridge	LS	LS	\$40,500.00	\$40,500.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00
209.0800	Installation, Maintenance, Monitoring, and Removal of BMP at Wailua River Plantation Bridge	LS	LS	\$47,500.00	\$47,500.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
209.0900	Additional Water Pollution, Dust, and Erosion Control	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
501.0100	Structural Steel - Repair Weld at Hanamaulu River (Viaduct) Bridge Railing	LS	LS	\$35,900.00	\$35,900.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
501.0200	Replace Heavily Corroded Reinforcing Steel	FA	FA	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00 Sheet No. 1 of	\$15,000.00

Г	TABULATION OF BIDS								
	Minor Bridge Repairs at Various Locations, Part 1 HWY-K-02-23M Various							STATE C	PF HAWAII
ISLAND:	Kauai			Abhe & Sv	voboda, Inc.	Kiewit Infrastr	ucture West	DEPART	MENT OF
DISTRICT:	Waimea, Koloa, Lihue, Kawaihau					Co).		ORTATION 'S DIVISION
DATE ADVERTISED: BID OPENED:									
COMPLETION TIME:	190 Working Days								
		APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
515.0100	Deck Expansion Joints at Approach Slabs - Nawiliwili Stream Bridge (Lihue Mill) - Inbound	130	LF	\$500.00	\$65,000.00	\$500.00	\$65,000.00	\$1,472.00	\$191,360.00
515.0110	Deck Expansion Joints at Abutments - Nawiliwili Stream Bridge (Lihue Mill) - Inbound	124	LF	\$400.00	\$49,600.00	\$500.00	\$62,000.00	\$1,050.00	\$130,200.00
515.0200	Deck Expansion Joints at Approach Slabs - Nawiliwili Stream Bridge (Lihue Mill) - Outbound	110	LF	\$540.00	\$59,400.00	\$500.00	\$55,000.00	\$1,050.00	\$115,500.00
515.0210	Deck Expansion Joints at Abutments - Nawiliwili Stream Bridge (Lihue Mill) - Outbound	118	LF	\$400.00	\$47,200.00	\$500.00	\$59,000.00	\$1,472.00	\$173,696.00
515.0300	Deck Expansion Joints at Deck Hinges - Hanamaulu Viaduct	100	LF	\$600.00	\$60,000.00	\$1,000.00	\$100,000.00	\$1,228.00	\$122,800.00
515.0310	Deck Expansion Joints at Abutments - Hanamaulu Viaduct	100	EA	\$600.00	\$60,000.00	\$550.00	\$55,000.00	\$850.00	\$85,000.00
515.0400	Deck Expansion Joints at Wailua River Plantation Bridge	78	LF	\$700.00	\$54,600.00	\$500.00	\$39,000.00	\$625.00	\$48,750.00
636.0100	Additional E-Construction Programs, additional licenses or additional equipment	FA	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
645.0100	Traffic Control for Kekaha Channel No. 1	LS	LS	\$70,000.00	\$70,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
645.0200	Traffic Control for Unnamed Stream (5-Cell Culvert)	LS	LS	\$34,800.00	\$34,800.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00
645.0300	Traffic Control for Hoinakaunalehua Stream Bridge	LS	LS	\$34,800.00	\$34,800.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
645.0400	Traffic Control for Nawiliwili Stream Bridge (Lihue Mill) - Inbound	LS	LS	\$130,000.00	\$130,000.00	\$145,000.00	\$145,000.00	\$50,000.00	\$50,000.00
645.0500	Traffic Control for Nawiliwili Stream Bridge (Lihue Mill) - Outbound		LS	\$86,900.00		\$145,000.00		\$50,000.00	\$50,000.00
645.0600	Traffic Control for Hanamaulu River (Viaduct) Bridge	LS	LS	\$52,500.00	\$52,500.00	\$175,000.00	\$175,000.00	\$100,000.00 Sheet No. 2 of 4	\$100,000.00

	TABULATION OF BIDS	1							
	Minor Bridge Repairs at Various Locations, Part 1 HWY-K-02-23M	-						STATE C	F HAWAII
ISLAND:				Abbe & Sv	voboda, Inc.	Kiewit Infrastr	ucture West		MENT OF
	Waimea, Koloa, Lihue, Kawaihau				vobouu, me.	Co			DRTATION
									'S DIVISION
DATE ADVERTISED:	•								
BID OPENED:	June 19, 2023								
COMPLETION TIME:	190 Working Days								
		APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.0700	Traffic Control for Papaa Stream Bridge	LS	LS	\$34,800.00	\$34,800.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00
645.0800	Traffic Control for Wailua River Plantation Bridge	LS	LS	\$34,800.00	\$34,800.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00
045.0000		25	23	\$34,000.00	φ34,800.00	\$30,000.00	\$30,000.00	\$30,000.00	\$50,000.00
645.0900	Additional Police Officers, Additional Control Devices,	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
	and Advertisement				. ,	. ,	. ,	. ,	. ,
648.0100	Field Posted Drawings	LS	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
074 0400	Destaction of Cookinda	FA		¢10,000,00	¢40.000.00	¢10,000,00	¢10,000,00	¢10,000,00	¢40,000,00
671.0100	Protection of Seabirds	FA	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
682.0100	Concrete Repair Type 2 at Nawiliwili Stream	6	SF	\$4,600.00	\$27,600.00	\$1,500.00	\$9,000.00	\$2,500.00	\$15,000.00
00210100	(Lihue Mill) Bridge - Inbound	· ·	•	¢ .,	<i> </i>	<i> </i>	<i>↓<i>∪</i>,<i>∪∪∪∪∪∪∪∪∪∪∪∪∪</i></i>	<i> </i>	<i> </i>
682.0110	Concrete Repair Type 3 at Nawiliwili Stream	8	SF	\$4,500.00	\$36,000.00	\$1,500.00	\$12,000.00	\$2,500.00	\$20,000.00
	(Lihue Mill) Bridge - Inbound								
		00	05	#0 500 00		# 0,000,00	¢ 40,000,00	# 0,000,00	¢ 40,000,00
682.0200	Concrete Repair Type 1 at Kekaha Channel No. 1 Bridge	23	SF	\$2,500.00	\$57,500.00	\$2,000.00	\$46,000.00	\$2,000.00	\$46,000.00
682.0210	Concrete Repair Type 4 at Kekaha Channel No. 1 Bridge	60	SF	\$1,400.00	\$84,000.00	\$3,000.00	\$180,000.00	\$750.00	\$45,000.00
002.0210	Concrete Repair Type 4 at Retaine Channel No. 1 Dhage	00	01	ψ1,100.00	φο 1,000.00	\$0,000.00	φ100,000.00	¢700.00	\$10,000.00
682.0300	Concrete Repair Type 1 at Unnamed Stream, 5-Cell Culvert	4	SF	\$5,800.00	\$23,200.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00
682.0310	Concrete Repair Type 2 at Unnamed Stream, 5-Cell Culvert	5	SF	\$4,800.00	\$24,000.00	\$3,000.00	\$15,000.00	\$2,500.00	\$12,500.00
000 0000	Concerned Demois Times 2 at Line are ad Stream. 5 Call Culturet	4	05	¢ς 400.00	¢04.000.00	¢2,000,00	¢10,000,00	¢0,500,00	¢40,000,00
682.0320	Concrete Repair Type 3 at Unnamed Stream, 5-Cell Culvert	4	SF	\$5,400.00	\$21,600.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00
682.0400	Concrete Repair Type 1 at Hoinakaunalehua Stream Bridge	7	SF	\$6,700.00	\$46,900.00	\$3,000.00	\$21,000.00	\$2,500.00	\$17,500.00
002.0400		,	01	<i>\$</i> 0,700.00	¥ 10,000.00	<i>40,000.00</i>	<i>↓⊥</i> 1,000.00	Ψ <u></u> ,000.00	<i>\\\\\</i>
682.0500	Concrete Repair Type 1 at Hanamaulu Viaduct	35	SF	\$2,600.00	\$91,000.00	\$2,000.00	\$70,000.00	\$3,000.00	\$105,000.00
682.0510	Concrete Repair Type 3 at Hanamaulu Viaduct	8	SF	\$3,000.00	\$24,000.00	\$2,500.00	\$20,000.00		\$24,000.00
								Sheet No. 3 of	4 Sheets

PROJECT:	Minor Bridge Repairs at Various Locations, Part 1						
PROJECT NO.:	HWY-K-02-23M						
NET LENGTH: ISLAND: DISTRICT:				Abhe & S ^r	voboda, Inc.	Kiewit Infrastr Cc	
DATE ADVERTISED: BID OPENED:	May 25, 2023 June 19, 2023						
COMPLETION TIME:	190 Working Days		T				
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AM
682.0600	Concrete Repair Type 3 at Papaa Stream Bridge	4	EA	\$9,500.00	\$38,000.00	\$2,500.00	\$1
699.0100	Mobilization (Not to Exceed 6 Percent of the Sum of All Items Excluding the Bid Price of This Item)	LS	LS	\$95,218.00	\$95,218.00	\$111,000.00	\$11
			I	I		1	
	SUM OF ALL ITEMS				\$1,998,418.00		\$2,10
	Hawaii Apprenticeship Programs Preferences				\$99,920.90		\$10
	AMOUNT FOR COMPARISON OF BIDS				\$1,898,497.10		\$2,00

ture West	DEPART TRANSP	OF HAWAII MENT OF ORTATION (S DIVISION
AMOUNT	UNIT PRICE	AMOUNT
\$10,000.00	\$3,500.00	\$14,000.00
\$111,000.00	\$95,298.00	\$95,298.00
2,106,503.00 \$105,325.15 2,001,177.85		\$1,788,704.00 \$0.00 \$1,788,704.00

Sheet No. 4 of 4 Sheets